SV

g o =
CF | A0l ;l-(j-l()' |X) 14 £ {2l~212l
F1/ | TR IG5/ [55) 20074 58 1231w
20074 271 $eUAx
=X 5% 4% 3% 2%
=g 2B(E) [HH(HL) | 2BE) |HH(EY) | 2E) |HHELY) | 22E) |HA(HE)
oj= 1,028 1,048 1,160 1,267 1,160 1,214 1,117 1,165
Ef =
HatAl 1,996 | 3,828 | 1,454 | 2,708 | 1,313 | 2,448| 1,433 | 2,787
mA
==
Hiot3 192 389 216 434 191 394 167 374
A 3,216 5,265 | 2,830 | 4,409 2,664 | 4,056 2,717 | 4,326
20044 1% ~ 20074 58
z=| 20044 20054 20064 2007
2y AE) |HHED) | ABE) [AEE) | 2BE) |HHEE) | 22(E) | HHEED)
1€ 3,233 4,570 | 4,680 9,153 1,559 | 2,082 2,975| 4,832
28 953 1,072 | 2,307 4,675 3,017 | 3,658 2,717 4,326
32 69 110 4786 | 10,202 5,112 | 4,868 2,664| 4,056
44 640 1,014 | 2,883 | 5,830 | 5,838 5,177 2,830 | 4,409
58 1,586 | 2,595| 2,828 | 5,659| 7,883 6,761 3,216 | 5,265
62 2,338 | 4,045| 3,734 6,852 | 7,837 | 7,284
78 2,271 4,454 | 9,307 | 14,813 | 4,453 5,213
8¢ 1,655 | 3,362 | 8,684 | 13,895 | 4,094 6,151
98 1,394 2,661 5,952 | 9,508 | 4,762 7,142
10 2,918 4519 | 4,376 7116 | 5,937 | 8,725
11 2,763 5,496 2,247 4,861 4,245 | 6,584
12€ 3,905 7,346 980 1,709 4115 | 6,267
A 23,725 | 41,244 | 52,764 | 94,273 | 58,852 | 69,912 | 14,402 | 22,888
2 1,977 | 3,437 | 4,397 | 7,856 | 4,904 | 5,826 2,880 | 4,578
A 164.7% | 180.2% |222.4% |228.6% | 111.5% | 74.2% 61.5% | 101.5%

146 -200717



